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Solve algebrmmlly

. (2x+1+16>=(3x b) x* +2x> =9x+18
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¢) —x"+1=2x"—3 ... What can you do if you can’t solve algebraically? 2243 3

Solving equations graphically: 2 different methods

1 s
. +3=0

Method 1: '\f\*ﬁ\,Sﬂ,ﬂ O\ Method Method 2: 2€.VD or %17\t Method
Let Yy, =‘___\)<"'€ .1—\ Use color and label each one. Let y, = ___.X"'t ,.,'2 X 1—\- ""
YV,= )X 2...3 Give a viewing window that :

y provides a complete graph for
both equations. Label key points.
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In general, solve h(x) =g (x) by graphing:

or_X-iN¢  Method

1. Rewrite the equation as hﬁ)(l 9§ g_l = Q.

2. Graph y, = h (X ) - 9(@

3. Findthe X —-1N1 5. or 2€rof
4. Tnesolumnsareme_y;ua(uﬁ[




Summary: Solve the following equation three different ways. 2x+3=4(x-1)+1

1) Use algebra - ii) Use your TI to graph a system . iii) Use your TI to graph a single equation .
IX+t3= Yx-Sel 1 n= 2%x3 oy=2%-0
2Xt3 =4 X-3 ~ "
(0=2X |
l?’s—-} < — b o

CS:D}

Observation: The algebra approach was the Q(LSiﬂ+ ___method and did not require a T1. If an equaﬁoncanﬂll'be
solved algebraically we will find solutions using our T1.
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Special cases: ~
— Helpful Hint: l
. Solve: vx'+x*-3x+1=0. Use Zbox. I—L : e

lnstead, try 3y = Y ¢ -3+ Ca“‘f“ﬁfﬂdg work and solve :f(xt = 0 because
Z - (in your own words) or\_,((f
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x’+x —12x v .+« To solve —0 , you can simplify your work by setting the
St 1omS _5
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